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(a): Box-PlotsHorizontal axis: time of WCST (1.00= baseline, 2.00=6 months,
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(b): Box-Plots, Horizontal axis: time of WCST (1.00= baseline, 2.00=6 months, 3.00=12
months, 4.00=18 months, 5.00=24 months, 6.00= 30 months); Red: ;
Green: ; Dark blue: ; Pink:
; Light blue: AVM
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(c): Box-Plots, Horizonta axis: time of WCST (1.00= baseline, 2.00=6 months,
3.00=12 months, 4.00=18 months, 5.00=24 months, 6.00= 30 months); Red:
; Green: ; Dark blue: ; Pink
; Light blue: AVM
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(d): Box-Plots, Horizontal axis: time of WCST (1.00= baseline, 2.00=6 months, 3.00=12
months, 4.00=18 months, 5.00=24 months, 6.00= 30 months); Red: ;
Green: ; Dark blue: ; Pink:
; Light blue: AVM
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